
10

PHARMACODYNAMICS

Johainah taha + Lana Altutanji



!" قبل ما نبلش ا6حاضرة... عشان أنا كتير منيحة ا) يرضى عني
#" قررت أخليكم تكسبو أجر كبير بكل سهولة... شفتو محسني

طب شو هو اPجر وكيف يا Mنا ا6تواضعة؟%$
اPجر يا حلوين أنه تتبرعو برصيد الطباعة تبعكم اذا ما بتحتاجوه لطVب بحاجته (قلتلكم 

&' اجر بسهولة)
طيب شو Mزم نعمل؟

أول شي Mزم تفوتو ع بوابتكم ومن عند خدمات أخرى __ رصيد الطباعة
هk من هي الخطوة بس بدي تتأكدو انو رصيدكم موجود وM خالص لو اعطاك (M يوجد 

اي حركات طباعة حاليا) معناها الرصيد موجود وفيكم تتبرعو فيه
طيب تمام وكيف نتبرع؟

من بوبابتكم ومن عند خدمات أخرى __ الدخول لشبكة اMنترنت (ا6ختبرات والVسلكية)
بتاخدوا اسم ا6ستخدم (والي هو رقمكم الجامعي) وبتنسخوا كلمة السر 

واخر شي بتدخلو على QR code الي تحت) بتعبو فورم التبرع بالرصيد وبس.
سهلة القصة وا) وفيها اجر كبير (اجر ع كل نقطة وحرف وكلمة انطبعت من رصيدك 

لشخص محتاج واجر بكل حرف اندرس من الورق الي انطبع برصيدك الي انت اصV ما 
بتستخدمه).



 ■ Efficacy
- It is the ability of a drug to produce response (effect) after binding to the receptor. 
- It is measured by the Emax (the maximal response that a drug can elicit at full 
concentration):
 Full agonist is the drug that gives maximal response at full concentration (at full occupancy).
Partial agonist is that agonist gives submaximal response even at full concentration i.e.never 
gives Emax

متل دواء اذا اشتغل على القلب بيعطيني استجابة %90 ولو اشتغل على عضو تاني بيعطيني استجابة 70%... انا هون 
بامكاني اعرف اEستحابة لل tissues وللدواء برضو

ببلش اجرب لو مثM على مريض عنده زيادة بال HR هM بأول جرعة بعطيه 1mg وبنشوف ال 
HR قديش قل (نفرض كان HR عنده 100 وصار 90 يعني اEستحابة عندي %10) هW انا 

بضل أزيد الجرعات لحد ما أول Emax يلي مهما زودت الجرعة بكون ال effect ثابت



■ Potency
- ED50 (Effective Dose) is the dose of the drug that gives 50% of the Emax, or it is the 
dose that gives the desired effect in 50% of a test population of subjects.
- A drug that gives ED50 by smaller doses is described as “potent” drug.
- Potency of drugs is generally less clinically important than efficacy because you can 
increase the dose of a less potent drug to obtain the effect of a more potent
one (provided that it is not toxic).









 a drug with greater efficacy than greater potency is more therapeutically beneficial

لقوا في هي ا5جموعة انه من ضمن ال action علىCNS انها بتعملي 
depression ل respiratory center (بوقف النفس) وشافوا بالتجربة هاد 

 depression يعني كلما زادت الجرعة بزيد dose dependentانه depression
ل respiratory center وبالتالي اPدوية هي 5ا تجي تبدلها يفضل تستخدم 

مكانها دواء more potent عشان الجرعة اPصغر رح تخلي ال depression أقل.



Methacholine is a non-selective muscarinic receptor agonist that acts directly on airway 
smooth muscle receptors to induce bronchoconstriction. (بضيق الشعب الهوائية)

This means that one isomer may be hundred times more potent than the other. 
In other instances one isomer is beneficial while the other is toxic.
This phenomenon may explain how a single drug could act as agonist and 
antagonist (i.e. partial agonist) because many drugs are present in “racemic 
mixtures” rather than as pure isomers; or how one isomer is effective and the other 
isomer is toxic.

= Chemical shape = Drug isomerism



= molecular weight

They should be given parenterally by IV

Drugs that can cause inflammation, pain or irritation at the extravasation





Quiz Time ⏰"
1) In the presence of picrotoxin, diazepam is less efficacious at causing sedation, 
regardless of the dose. Picrotoxin has no sedative effect, even at the highest dose. Which of 
the following is correct regarding these agents?
A. Picrotoxin is a competitive antagonist.
B. Picrotoxin is a noncompetitive antagonist.
C. Diazepam is less efficacious than is picrotoxin. 
D. Diazepam is less potent than is picrotoxin.

2) If 1 mg of lorazepam produces the same anxiolytic response as 10 mg of diazepam, 
which is correct?
A. Lorazepam is more potent than is diazepam.
B. Lorazepam is more efficacious than is diazepam.
C. Lorazepam is a full agonist, and diazepam is a partial agonist.
D. Lorazepam is a better drug to take for anxiety than is diazepam.

3) If 10 mg of oxycodone produces a greater analgesic response than does aspirin at any 
dose, which is correct?
A. Oxycodone is more efficacious than is aspirin.
B. Oxycodone is less potent than is aspirin.
C. Aspirin is a full agonist, and oxycodone is a partial agonist.
D. Oxycodone and aspirin act on the same drug target.

4) In the presence of propranolol, a higher concentration of epinephrine is required to elicit 
full antiasthmatic activity. Propranolol has no effect on asthma symptoms. Which is correct 
regarding these medications?
A. Epinephrine is less efficacious than is propranolol.
B. Epinephrine is a full agonist, and propranolol is a partial agonist.
C. Epinephrine is an agonist, and propranolol is a competitive antagonist.
D. Epinephrine is an agonist, and propranolol is a non-competitive antagonist.



5) The data presented in the figure below show that:
A. Drugs A and B have equal efficacy
B. Drug B and C have equal efficacy
C. Drug B is a partial agonist
D. Drugs A and C have the same affinity and efficacy
E. Drugs A and B have equal potency.

6) Which of the following best describes the effect of a competitive antagonist on the 
dose-response curve? (From USMLE

!

)
A. Non-parallel left shift 
B. Non-parallel right shift 
C. Parallel left shift
D. Parallel right shift 
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